15.

16.

2022

The following table shows the market supply schedule of a good.

Unit price ($)

Quantity supplied (units)

2

22

26

30

34

38

N | n | AW

42

Suppose the original equilibrium price is $5.
the market price will rise to $6. Which of the following statements are correct?

(1) The ratio of buyers’ tax burden to sellers’ tax burden will be 1:1.

(2) The total tax revenue will be $76.
(3) The total revenue net of tax will decrease by $50.

A. (1) and (2) only
B. (1) and (3) only
C. (2)and (3) only
D. (1),(2)and (3)

Refer to the following supply and demand schedules of Good X.

If the government imposes a per-unit tax of $2 on the good,

Unit price ($) 7 8 9 10 11 12 13
Quantity demanded (units) 700 600 500 400 300 200 100
Quantity supplied (units) 250 | 300 | 350 | 400 | 450 | 500 550

If the government increases the price floor from $9 to $11, the total expenditure on Good X will

A. become $3300
B. become $4950
C. increase by $150
D. increase by $950

21. Refer to the following supply-demand diagram of Good X.

Price S without subsidy
A
S with subsidy
0 D—: Quantity

If the government cancels the per-unit subsidy on Good X, it will lead to a decrease in

(1) quantity transacted
(2) consumer surplus
(3) deadweight loss

A. (1)and (2) only
B. (1)and(3)only
C. (2)and (3) only
D. (1),(2)and (3)
4 Country B and Country C are two large open economies. Facing a huge visible trade deficit, Country B

imposes a per-unit tacifl’ on goods imported from Country €. Suppose Country B's demand for goods
imported from Country C is clastic.

(@ With the aid of Figure 1. explain how the tariff svould affect the total expenditure of Country B on
goods imporied [rom Country C. (6 marks)

(b)y  “Devaluation of a country ‘s currency against its trading partoers’ may have the same effect on imponts
as Ll Use Country B as an example 1o justily this statement (2 marks)

(c)  Apart [rom the elfect on the country’s visible trade balance. explain ONE other eflect of devaluation
on its balance of paymenls. (2 marks)

Price (inlerms of Country B’s currency)
A

0 > Quantily-o L goads imported from Coviniy C



SECTION 8: MARKET INTERVENTION

8.1 PRICE CONTROL
Muitiple Choice (uestions

1990/CE/H/04
Which of the following will result in a “shortage” of housing?

A.  There is an increase in population.

B.  Many people cannot afford to buy a flat.

C.  The supply of housing is inclastic.

D.  The government sets the price of housing below the market price.
1992/CE/11/24

[f the government imposes a price floor below the equilibrium price, there will be

A adecrease in the sales revenue.
B. adecrease in the quantity transacted.
C. an excess supply.
D no excess demand.
1992/CE/N27

Micrpestnamics By Tople
0 Mkt |nteevartliny

The below diagram shows the price and quantity of Good X. The price increases from Pc to Pe after the price ceiling is

cancelled. As a result, the total expenditure on Good X will

Unit Price

Pe f= -

i

P o=~

%
0 Quantity
A, Increase.
B. decrease.
C. remain unchanged.
D. either increase or decrease, depending on its price elasticity of demand,
1993/CE/MN/27

Filipino maids working as domestic helpers in Hong Kong receive a minimum wage. They usually have to wait for a long
time before obtaining employment in Hong Kong. They would have a shorter waiting time and more employment

opportunities in Hong Kong if

their minimum wage was raised

the minimum wage legislation was removed

the Philippines was more politically unstable

a surcharge was imposed on the Hong Kong employers

onws
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1994/CE/I/10
The following diagram shows the supply of and the demand for the tickets of a concert.

Price s

R IS

@ Quantity

If the ticket are sold at P2 instead of P,

(1) ablack market may occur.

(2) the sales revenue will be smaller.

(3] the quantity transacted will be greater.

(4) the sales revenue may increase or decrease,
depending on the price clasticity of demand.

A. (1) and (2) only
B. (1)and(4)only
C. (2)and (3) only
D.  (3)and (4) only
1995/CE/11/09

The flats under the Home-Ownership Scheme are allocated by a draw. This implies that

A.  the Housing Authority has under-estimated the demand for this type of housing.
B.  adraw is the fairest method in allocating resources.
C. the price of this type of housing below its cost.
D. the price of this type of housing is below the equilibrium price.
1995/CE/M/12

Price ($)

0
Quantily (units)

In the above figure, the market price of good X is fixed by the government at P*. If the demand increases from D to D°,
(1) the excess demand will be greater.

(2) the guantity transacted will not change.
(3) the sales revenue will increase when the demand is elastic.

A, (1) and (2) only
B. (l}and(3)only
C.  (2)and (3) only
D. (1), (2)and (3)
286
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1996/CE/11/08
Shortage occurs when

A, aprice floor below the equilibrium price is imposed.
B, aneftective price ceiling is imposed.
C. the supply is reduced.
D. the demand increases sharply.
1996/CE/11/09

Suppose initially the price of a certain good is fixed below the market equilibrium, Relaxing the price control will lead to

(1) anincrease in revenue.

(2) adecrease in demand.

(3) an increase in revenue only if the demand for this good is inelastic.
(4) an increase in the quantity supplied.

A, (1)and (2) only
B. (1}and (4) only
C. (2)and (3) only
D.  (3)and (4) only
1997/CE/M/56

Suppose the government has put an end to all sorts of rent control in Hong Kong. This measure would NOT

A, lead to a wider wealth gap.

B. increase the property tax revenue.

C. lead to a shortage in the property market.

D. increase the guantity supplied of rental accommodation.
1998/CE/1/04

If a price floor is set below the equilibrium price of good X,

A, ashortage of good X will occur.
B. the quantity transacted will decrease.
C.  the total revenue may increase or decrease, depending on the elasticity of demand for good X.
D. the total revenue will remain unchanged.
1999/CE/11/06
o Quantity Demanded | Quantity Supplied
Unit price ($) (units) (units)
7 8 20
6 12 18
5 16 16
4 20 14
3 24 12

Refer to the above supply and demand schedule for good X, The government sets its minimum price at $4 per unit. What
would happen if the government raised the minimum price to $6 per unit?

SAws

The shortage of good X would disappear.

The quantity transacted would increase.
Consumer expenditure on good X would decrease.
The surplus of good X would decrease.

287
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Microeconormics by Topic Microeconomics by Topic
8 Market Intervention 8. Market Intervention
2000/CE/11/06 2004/CE/MNN3

Hong Kong’s recent economic recession has caused a decline in people’s income. In view of this, the government decided to When the Real Madrid football team visited Hong Kong, many people queucd up for days for the tickets to watch the game.
lower the etfective minimum wage level of Filipino maids. As a result of these TWO changes, Some people complained that they were unable to buy a ticket even they were willing to pay the ofticial ticket price. This

implies that
(1) The demand for Filipino maids should decrease

(2) The quantity supplied of Filipino maids should decrease. (1) there was only price competition for the ticket.
(3) The excess supply of Filipino maids should decrease. (2) he official ticket price was sel below the market clearing level.
(4) The total expenditure on the employment of Filipino maids should drop. (3) the opportunily cosl of obtaining a ticket was higher than its ofticial selling price.
A. (1) and (2) only A. (1)and (2) only
B. (2)and (3) only B. (1) and (3) only
C. (1), (2)and (3) only C. (2)and (3) only
D. (1), (3)and (4) only D, (1), (2)and (3)
2002/CE/1/06 2005/CE/M/13
The following table shows the supply of and demand for Good X. As shown in the following graph, the government of a certain country has fixed the price of agricultural products at P’
= - - Unit Price
Unit price (%) Quamle demanded Quantvlty _supphed
(units) (units)
2 20 4
4 16 8
6 12 12
8 8 16
10 4 20 0 Quantity
If the government raises the price ceiling from $4 per unit to $8 per unit, the quantity transacted will If the price of fertilizers falls, what will happen to the agricultural products? There will be
A.  increase by 4 units A.  alarger excess demand.
B. increase by 8 units B. an increase in the quantity transacted.
C. decrease by 8 units. C. an increase in the sales revenue.
D. decrease by 4 units. D.  alarger cxcess supply.
2004/CE/TI/12 2007/CE//07
Uit Price An imposition of a minimum wage legislation would increase
P 5 A, the cmployment opportunitics of unskilled workers.
B. the total wage payment to unskilled workers.
C.  the unemployment of unskilled workers.
D. the inflow of forcign investment.
. 2008/CE/II/11
Quantity The following table shows the demand and supply schedules of rice
. . . . . . . Unit price | Quantity demanded Quantity supplied
Refer to the above diagram. Which of the following statements is correct 7 (%) [units) (units)
5 10 25
A. Ilaprice ceiling is set at Py, the quantity transacted is Qa. 4 12 20
B. Ifa price floor is set at Py, the quantity transacted is Q.. 3; 15 15
C. Ifaprice floor is sct at P3, the quantity transacted is Qa. ) 20 10
D. Ifaprice ceiling is set at Px, non-price competition will occur. 1 27 5
If the controlled price is raised from $2 to $4 per unit, sellers’ total revenue will inorease from to
A §20....$45
B.
(ch
D.
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2008/CE/11/12
If the government raises the effective minimum wage of imported workers,

A.  the employment of imported workers will increase.
B.  ihe problem of shorlage of imported workers will become more serious.
C.  the uncmployment rate of local workers will increase.
D.  the total wage carnings of local workers will increasc,
2009/CE/11/08

Suppose the government irnposed an effective price ceiling on good X. If the government raises the effective price ceiling,
the total consumer expenditure on good X

A, would increase.

B. would decrease.

C.  would remain unchanged.

D. may increase, decrease or remain unchanged depending on the elasticity of demand.
2009/CENTVI

The government is planning to introduce legislation on a minimum wage across industries. A result of imposing an effective
minimum wage is that

A, the average wage carnings of employed low-income workers must inercase.
B.  the total wage carnings of employed fow-income workers must increase.
C.  the demand for low-income workers must decrease.
D. the supply of low-income workers must increase,
2010/CE/11/14
The diagram below shows the market of Good Z.
Unit Price
D, S
Pe
8 D

g Quantity

1f the government imposes a maximum price control on Good Z at $Pc
per unit, there would be

A.  an cxcess demand for Good Z.

B. anexcess supply of Good Z.

C.  no change in consumers’ total expenditure on Good Z.
D. an increase in consumers’ total expenditure on Good Z.

290
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8 Market interventiah
PP/DSE/I/15
The following diagram shows the demand and supply curves of good X in a perfectly competitive market.
Price ($)
A

P

Quaniity

Suppose a price floor is sct at P1. Ay a result,

A, the deadweight loss is equal to arca BEF.

B. the producer surplus is equal to arca P1BCO.

C.  the consumer surplus is equal to area AEPe.

D. the total social surplus is equal to arca PIBCG.
2013/DSE/N/14

Refer to the following demand-supply diagram.

Prioe

Quantity

B3

v U

If the government raises the price floor from P; to Py, the total
revenue received by the sellers.

A, will rise.

B. will fall.

C.  will remain unchanged.

D.  may rise or {all, depending on the price elasticity of
demand

2013/DSE/N/15
Suppose the government introduces an cffective rent control which sets a maximum rental per square feet the landlords can
charge to any tenants. Which of the following statements is correct?

(1) There will be a shortage of rental units.
(2) The landiords will have less incentive to rent out their flats.
(3) The landlords will spend less on maintenance of the rental flats.

A.  (I)and (2) only
B.  (I)and (3) only
C. (2)and (3) only
D. (1), (2)and (3)
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2014/DSE/N/21
Which of the following arc results of the government lowering an cffective price ceiling on a good?

(1) areduction in the producer surplus
(2) anincreasc in cxcess demand
(3) an increase in the total sales revenue if the demand is elastic

A, (1) and (2) only
B. (1)and (3) only
C. (2)and (3) only
D. (1), (2)and (3)
2015/DSE/N/13

Many people queued up for days the tickets to watch the show of Tsz-Wal, a famous artist performing stand-up comedy.
Some people complained that they were unable to buy tickets even though they were willing to pay the ticket price set by the
organiser. The above siluation implies that

A, price was the only criterion for allocating the tickets.

B. the producer was not maximising its profit.

C.  ablack market for the tickels might emerge.

D. there was an cffective price cciling in the ticket market.
2015/DSE/N/19

Refer to the following diagram.

Price (5)

Quantity

If the government lowers the price ceiling from Pa to Pb,

A.  The quantity transacted will increase.

B. The deadweight loss will decrease.

C.  The producer surplus will decreasc.

D. The consumer surplus will increase.
2017/DSE/I/18

Suppaose the government imposed an effective rent control on living units. Which of the following would LEAST likely
occur?

There would be a shortage of living units.

Black market would emerge.

Poor people would be able to rent a living unit more easily.

Landlords would have a lower incentive to renovate their living units for rent.

TOw
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8. Market intervention
2017/TSE/N/23

If the government raises the effective price floor on Good X and at the same time the price of its substitute increascs, the
caonsumer surplus in the market of Good X

A, will increase
B. will decrease
C.  will remain unchanged
D. may increase or deerease
2018/DSE/I/18
Refer to the following supply and demand schedules for Good X.
Unit price ($) 13 12 11 10 9 8 7
(uantity demanded (units) 70 80 90 100 110 120 130
Quantity supplied {units) 130 120 110 100 90 80 70

Suppose the government increases the price ceiling from $8 to $12. Which of the following statements is correct?

There would be a shortage of 40 units of Good X.

There would be a surplus of 40 units ol Good X.

The total expenditure on Good X would increase by $360.
The quantity transacted of Good X would remain unchanged .

oow>

Shart & Structured Questiong

1990/CE/1/1(b)
Suppose the Hong Kong government drastically increases the minimum wage rate of Filipino maids.

(i) With the aid of a diagram, explain why the total wage earnings of Filipino maids in Hong Kong might decrease.
(8 marks)

(1) With the aid of a diagram, explain what would be the effect on the equilibrium wage and quantity of local maids.
(7 marks)

1994/CE/I/3
The following diagam shows the supply and demand curves of a certain product:

Price.
1]

Py

Quustity
If the government imposes a ‘price-ceiling at’ at Py, what will be the market price and quantity transacted? Explain your

answer. (4 marks)
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Refer to the following supply-demand diagram for Good X, 8/ Marniet rterventon
—_— 2006/CE/1/1
f“iﬁ( } Figure 1 shows the market supply and market demand curves of good X. Suppose the government lowered the price ceiling
3 from Pa to Py.
Unit Price
P . 3
i s
i D /
i
! Pl
i Figurs L
P / \ Py
|
; N / \
! s p
E o » Quantity
o Q Quantity (a) Explain whether the initial price ceiling P is effective or not. (2 marks)
If the price Roor of Good X changes from P; to Py, (b) Explain how a fall in the price ceiling to Py would affect consumers’ total expenditure on good X. Indicate the change
in consumers’ total expenditure in Figure 1. (4 marks)
A, producer surplus will ircrease.
B, quantity transacted of Good X will remain at Q).
C. desdweight loss will increase. 2012/DSE/NV/S
D, excess demand of Good X wilf change to excess supply. Country A has imposed an cffective price ceiling on Good X.
(a) Suppose Country A eliminates all illegal transactions of Good X. Can this price control ensure all lower income buyers
obtain the quantity of Good X they plan to purchase? Explain. (4 marks)
(c) Suppose the effective price ceiling is lowered. Will the change in price ceiling improve economic efficiency? Explain
your answer with the aid of a diagram. (4 marks)
2013/DSEN1/10(c)
The Hong Kong government has introduced an effective minimum wage. Subsequently, many restaurant owners claim that
they are unable to employ enough workers for their restaurants at the minimum wage rate. With the aid of a demand-supply
explain why the above phenomenon may arise. (9 marks)
2044/DSENY/3
Figure 1 shows the market supply and demand curves of Good X. Suppose the government raises the price floor from Pa to
Pb.
Unit price Gooid
7%
Py /
n
D
0 Quantity
igure
With the aid of Figure 1, explain whether the rise in the price floor could enhance cconomic cfficicncy. (6 marks)
294
L2 f f f ) el r ] g [ - r -n " E " B B

ES B = B B = | e S &8 B B == B =B “Provide‘dbvdsellfe




Microeconormics by Fesgsie
8 Market Intervention

2018/DSEAT10
Forcign domestic helpers arc paid with a minimum wage at HK$4 410 per month for a two-year contractual period in Hong
Kong.

Flpwre 3 Fewlgn Dumestic Halpers {n Hang Kung

= Quantiny

(¢) Suppose the minimum wage in the market of forcign domestic helpers in Hong Kong is effective. With the aid of
Figure 2, explain how it may result in cconomic inefficiency. (4 marks)

It is reported that the Mainland market is about to open its doors to maids from the Philippines, offering them a salary
several times higher than the minimum wage for foreign domestic helpers in Hong Kong.

(d) Some employers in Hong Kong claimed, ‘Even if we offer higher wages to foreign domestic helpers, there will still be
insufficient foreign domestic helpers in Hong Kong after the opening of the Mainland market to maids from the
Philippines.” With the aid of Figure 2, explain why the above claim may be correct. (6 marks)

(c) Other than insufficicnt forcign domestic helpers, suggest ONE phenomenon that may be observed in the market of
foreign domestic helpers in Hong Kong after the opening of the Mainland market to maids from the Philippines.
(1 mark)

2020/DSE/I/10 D

(d}  The US government could impose guota to restrict imports.  From the viewpuint of the US
government, stale ONE ad ge and ONE disad e of using tarifl instead of quota to restrict
imporis. (2 marks)
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1990/CEN1/04
D

1992/CEA1/24
D

1993/CEM/27
B

1994/CEAI/10
A

1995/CEANQ0
D

1995/CE/M/12
A

1990/CE//1(1)
@)

1996/CE/NI/08
B

1996/CEA/09
B

1997/CEA/36
C

1998/CEN1/04
D

1999/CE/11/06
I

2002/CE/MN/06
A(35%)

MARKING SCHEME

2004/CEAL12
B (43%

2004/CEAY13
C (60%)

2005/CEAN3
D (49%)

2007/CEANOT
€ (46%)
2008/CE// 11
B (52%)

2008/CR/12
1 (47%)

2009/CE/1/08
A (50%)

2009/CET11 2017DSEN18
A (40%) C (47%)

2010/CEA14 2017DSEN23
€ (44%) D (47%)

2013/DSE/V14 201/DSE/E
C@I%) C (62%)

2013/DSE/N/1S Z020/PSEA/20
D (34%) C

2014/DSEN2]
A (65%)

2015/DSE/L3
C(57%)

2015/DSEA/ 9
C (07%)

Note: Figures in brackets indicate the percentages of candidates choosing the correct answers.

Wagc rate

W2 Es
" E
\|_Q
L NN
Q< Q

Indicate in the graph:

-W1i&Q|

- position of *G” and "1

-G<L

Verbal explanation:

Assume that the demand for Filipino maids is elastic,
the percentage change in quantity demanded 1s larger than the percentage change in wage rate. 2y

In other words, the increase in earnings from the increase in wage rate is smaller than the decrease in earnings from the

decrease in guantity demanded.
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Microeconamics by Tepie Micnoetonomics by Topic
8. Market Intenvention & Market Intervention
(i) 201 UDSENS
Waye rate 5 g (ay No, because €3]
5 2 there is excess demand / shortage. (1}
! other competitive criteria/non-price competition, such as quening, will emerge. 2) Max: 3
Ws X E, the new compelitive criteria do not necessarily depend on income. 2)
r (¢} Nu, because (H
Wi g, there is greater deadweight loss / total social surplus decreases. (h
\ P
s D D, Tncrease in deadweight loss / Loss in total social surplus
' s
0 Quantity
Q=
s to the right [¢5) ™
M N N
M / ! \
i D
hal explanation: i Q
. o 0
he demand for local maids will increase, because (€8] Q%
Filipino maids and local maids are substitutes (1
The ecuilibrium wage rate will increase. (n Indicate in the diagram:
The equilibrium guantity will increase. (1) - lowering of the price ceiling (1
- correct position of increase in deadweight loss / loss in total social surpius (1)
1994/CE/N/3
Market price = Py th 2013/DSE/M/10(ch
Quantity transacted = Qg () Waorket in catering industry
The price ceiling is ineffective, because (1) Wogg rate S,
it is higher than the equilibrium price. () So
—m
2006/CTA/ R
(a) N?, because o ] ( w s =)
P iz above the equilibrium price ) shortage
(h)
Unit Price
A
y D
b /7 Number of workers
Py p
7
N / ¢ on the diagram:
» N £ - wage rale set above the original equilibrium €]
| 22222 —_— o
Pa 57 - magnitude of the leltward shill ol the supply curve greater than the surplus (2)
é \ - final shortage 8
D
g S é Quunilty Verbal glaboration:
Q¢ Qe An cffective price floor will create a surphis of workers., h
If the restaurant workers change to work in other industrics (for example, tum into security guards), [@)]
Diagram: the supply of workers in this industry drops, and €D
- original total expenditure = area OP.EQ,0 ) there may be a shortage for workers at the minimum wage rate. 8D
- new total expenditure = area OP3E Q0 48]
OR indication of the decrease in total expenditure, e.g., the shared area
Verbal Elaboration:
- price W from P, to Py and quantity transacted ¥ from Q. to Q (n
- total expenditure of consumers decreases 1)
297 298
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Microeconornics by Tegike Microeconormics by Topic
8 Market intervention & Market Intervention
2014/DSEAT3 2018/DSEM/ 10
Umt‘pnce Giood X g o s i -
Wage rates Sr
D
S
| J Shortage
€
Py =Py
Wy
- H—J\ / Deadweight Loss
Po Wo Min wage
Pa E
|
0 : : » Quantity ;
Q Qu i
i Cuantity
Figure 1 ¥ Q Figure 2 A -
fndicate on the diagran: A
- correct Py Qo N (c) Hlustrate in Figure 2:
- correct Py O L - correct position of minimum wage (83
- correct position of deadweight loss (191.) m - correet position Uf‘QI ) h
- correct position of deadweight loss H
Verbal elaboration: i
No, because m Verbal claboration :
the incfteetive price floor (P.) becomes an cffective price Hoor (Py) [6}] At Qi marginal beneflt is greater than marginal cost. 0
at the new quantity (where the horizontal Pb-line intersects the demand, H
marginal benelit (maximum willingvess-lo-pay) is higher than marginal cost and there exists a deadweight loss. ¢ N
(Max: 6) (d) Hlustrate in Figure 2:
- leftward shift of supply curve (1)
- correct position of shortage at the higher wage rate 2)
Verbal elaboration:
Filipino maids working in the Mainland and Filipino domestic helpers in Hang Kong are 1 competitive supply. ()
If competition from the Mainland sharply reduces the supply of forcign domestic helpers in Hong Kong. (1)
then shortage of such workers could still arise even at a higher wage rate. (h

(e} Lmployers may try to recruit domestic helpers from other countries to work in Hong Kong.
OR
The minimum wage may be raised / abolished by the government. (1@, max: 1)

2020/DSE/I/10 D

D) Advantage of tariff over quota : The tariff revenue collected must go to government { guota revenue may belong to private
firms / importers )

Disadvantage of tartll over quota : 1t may not be effective in controlling the import level while the local demand increase ( the
import level can still increase under tariff if demand increase but quota will not )
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82 QUOTA

1993/CE/1/53

Country A prefers to impose quotas rather than tariffs in restricting the amount of imports, Which of the following is a
possible reason?

A, The government wants to increase its revenuc.
B.  The effect of quotas on the amount of imports will be more certain.
C.  Local consumers can enjoy cheaper imports,
D.  Ttwill lead to less retaliation from the exporting countries.
1994/CE/I/12
If the government imposes an effective quota on good Y, the market price of Y wilt and its quantity transacted will
Al . crease
B. o teerensy
C. decrease ...... increase
D. decrease ...... decrease
1994/CE/I/{3

If the government imposes an effective quota on good Y, the consumers” total expenditure on good Y will

A, decrease

B. increase.

C.  remain unchanged

D. increase or deerease, depending on the price clasticity of demand for good Y.
1999/CE/M/07

The abolition of an effective quota on an imported good will resuit in

(1} afall in its price

(2) anincreasge in its import volume

(3) an increasc in its total sales revenue,
(4) an improvement in its quality.

A, (1)and (2) only B. (T)and (3) only
C. (1), (3)yand (4) only D (2),(3)and (4) only
1999/CE/11/45

According to a news report, the use of U.S. import quota for Hong Kong garments has decreased because of keen
competition from other Asian countries. This has led to some of the quota remaining unused for the first time.

Which of the following diagrams correctly shows the situation of Hong Kong’s garment exports in the U.S. market as
described above?

B ¢ D

Unit price Unit price s Unit price

D P
D,
0 Quaniity a Guuntity o Quantity 2 Quantity
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2000/CE/11/49

Suppose the US government decreases the quota for HK garments exported to the USA. This will lead to

A.  ashortage of HK garments in the USA.

B. an increase in the income of garment producers in the USA.

C. asurplus in the balance of trade in the USA.

D. adecrease in the expenditure of US consumers on HK garments.

2005/CE/H/10

Good X Quantity demanded Quantity supplied
(unit price) in the mavket (unit) in the market (unit)

$6 60 40

$9 55 45

$12 50 50

$15 45 55

318 40 60

If the government fixes the production quota of Good X at 45 units, the market price of Good X will be

A%y
B. 12
C. $15
D. $I18
2005/C'E/11/48
If the US government cancels the effective import quota restrictions on the textile products from Hong Kong, then the US
import price of Hong Kong textile products will and US import spending on Hong Kong textile products will
A, rise .. increase
B. SC <ens be indcterminate
C. . increase
D. . be indeterminate
2006/CE/M/10
In Country A, there is a quota restriction on an imported good. When the import quota quantity is Q,, the market price of the
good is Py.
Unit Price
S, S,
Py
Py
|
| 2] —
\
' D
—- Quantity

0T @ @

Now suppose Country A increases the quota quantity from Q, to
Qz as shown in the diagram below. As a result, the new total sales
revenue would be

Py xQ
P2x Q2
Pyx Q3
P1x Qs

Tnw>
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Microeconomics by Faie Microeconormics by Topic
8. Market interventicn B Market Intervention
200TCEN08 2010/CE/M/N3
China abolished the car import quota system in 2005. As a result, _ in China will increase. If the Hong Kong government abolishes the import quota on live chickens from mainland China,
A, the price of cars A. the price of live chickens in Hong Kong will increase.
B. the sales volume of cars B. the total sales revenue from live chickens in Hong Kong may increase.
C.  the income of workers in the car manufacturing industry C. the sales volume of chilled chickens in Hong Kong will increase.
D. the revenue from car sales D. the total expenditure on chilled chickens in Hong Kong may increase.
208/ CENING 2012/DSE/I/19
Country A reduces the quantity of an effechive quota on clathing imported from Country 13, Al the same time, imported The increase of an effective quota on a good will result in
clothing from other eountries to Country A has become cheaper. Which af the following graphs can illustrate the changes in
Country A’s market of clothing imperted from Coumtry B? E) 15 the ariginal equilibrium point and E3 is the new equilibrium (1} anincrease in the quantity transacted of the good.
point. (2) afwrther improvement in the quality of the good.
(3) asmaller deadweight loss.
A. Unit price B. Unit price
A, (l)and (2) only
S: B.  (1)and(3)only
C. (2)and (3) only
D. (1), (2)and (3)
Quanty g Quamilty 2013/DSE/N/19
Refer to the following demand-supply diagram of a good with the government setting a quota at Q.
C. Unit price 0. Unit price Price
$)
8
&5 S 0§ "
By
El
= b, 0
D: Uy
0 Cranlity a S '
2009/CE/M1/12 ;
Last year, the government reduced the import quota of {resh chicken into Hong Kong. On the other hand, many Hong Kong :
citizens have changed their habit of consuming fresh chicken to consuming chilled chicken. Which of the following
diagrams illustrates this phenomenon ? ! th
2 e Quantity
A B. y ¢ Q
Fresh chicken Eresh chicken
Unit price B s Unit price S & Which of the following will be the result of a reduction in quota on the good?
o, o : .
e (1) The total expenditure on the good may increase or decrease.
(2) The consumer surplus will decrease
(3) The total social surplus on the good may increase or decrease.
2
L A, (1)only
o Quantity 0 Quuitity B.  (!)and (2)only
C. (1)and (3) only
D. (1), (2)and (3)
C D.
Chilled chickon
Unit prico 5 2014/DSE/1/23
S Suppose the supply curves of cars and petrol are upward-sloping. If the government imposes an cffective quota on the
- production of cars,
A.  the total social surplus in the car market will increase.
B. the producer surplus in the car market will decrease.
& C. the total social surplus in the petrol market will decrease.
0 Quatity D. the consumer surplus in the petrol market will increase.
303 304

Provided by dse.life




TS R TR
b R &

) 2019/138E/1/14
Microsconomics By Fopic
8 Market Inteérvention Refer 10 the followi et d for imported in C A

efer 1 the following m: demund for im soybeans in Count .

2017/DSE/1/24 - > ”

Refer to the following supply-demand diagram of'a good with a quota set at Q; by the government.

Price ($) 10 0| 2 13 14
Price ($) Quantity demanded (uaits) | 700 | 600, | 500 | 400 | 300
S
fo When the government of Country A fmposes & per-unit tariff of $3 on imported soybeans, the equilibrium
price of the imported saybeans increases from $11 1o $13.
Which of the foliowing statements are correct?
(1) The total sales revenue {net-of-tarff) of the imported soybeans s $4000.
(2) The supply of the imported soybeans is more elastic than the demand for them.
D (3) Within the range of the original and the new equitibrium prices, the elasticity of demand of the
o} >Quantity imported soybeans Is smaller than one.
Which of the following will be the results of a reduction in quota on the good? A (1) and (2) only
B. (1)and {3) only
(1) The total cxpenditure on the good may increase. C.  {(2)and (3) only
(2)  The consumer surplus will decrease. D. (1), {2)and (3)
(3) The total social surplus may increase. 2018/D8E/1/15
A. (1) and (2) only N D o
B. (1)and (3) only 15. | A new private hospital, Gleneagles Hong Kong Hospital (GHK), opened in Wong Chuk Hang in early
C.  (2)and (3) only 2017, GHEK. offered a 56% salary rise to attract experienced nurses fom public hospitals,
D. (1), (2) and (3)

Based on the above information, which of the following statements is correct after the opening of GHK?

A, The wagerates of experienced nurses in public hospitals would increase by more than 50% if the
Short & Structured Questions demand for nurses is clastic,
B. Thesupply of experionced nurses in public hospitals would decrease,

C.  The efasticity of demand of public medical services would decrease,
1997/CE/1/10(b) D.  The waiting time for public medical services would remain enchanged,
If a country imposes an effective quota on the quantity of its import, explain and indicate clearly on a supply-demand
diagram how the market price and the volume of the import would change. (8 marks) 2019/ DSE/T/16
1998/CE//2 Rafer to the following supply and demand schedules of Good X,

Suppose the government increases the quota on the quantity of an import and the increased quota is still effective. With the
aid a diagram, explain whether the market price of the import would increase or not. (4 marks) Unit price ($) 18 16 | 4 12 16 8 4

ity demanded (units) | 100 | 150 [ 200 | 250 | 300 | 350 | 460
2001/CE//9(b) Quantity (umits) ;

Suppose the importing economy reduces the effective quota on the quantity of garments imported. With the aid of a diagram, Quantity suppiied (units) 400 | 350 | 300 | 250 | 2060 | 150 | 109
explain under what condition the total expenditure of this economy on imported garments would decrease (9 marks) =

If the government increases the quota for Good X from 200 units to 350 units, the muarket price will
2008/CE/1/11(b) . .
Trade deficit is a concern of many countries.

A, increase by $2
In the past, the US imposed a quota restriction on imports of Hong Kong made garments. However, US import value (in B.  increase by 36
terms of US$) of Hong Kong-made garments still increased with the quota restriction. Give ONE reason to explain why. C.  decrease by $2
(2 marks) 0. docrease by $6
2015/DSE/M/3
An increase in an cffective quota in the market ol a good would tead to a reduction in deadweight loss. Do you agree?
Explain your answer with the aid of a diagram. (6 marks)
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Refer to the following supply-demand disgram for the exported Chinese rare carth minerals, Mkmm 5 by Topkc
B Market Intenvention
Exported rare earth ntinerals
MARKING SCHEME
Price
s
\ ! 1993/CE/1/53 1999/CE/11/45 2006/CE/I/10 2010/CE/NIN3 2017/DSE//24
B A B (52%) B (63%) A 69%)
1994/CE/MN2 2000/CEAN49 2007/CEAT/08 2012/DSE/V19 2019/DSE/I/14
B B B (62%) B (56%) A
1994/CENM13 2005/CE/IT/10 2008/CE/11/09 2013/DSE/I/19 2019/DSE/N/IS
/ D C (39%) C (54%) B (59%) B
Dy TNRE
Quastity 1999/CT/M/T 2005/CE/48 2009/CBA1/12 201 4/DSE/23 2019/DSEA/IG
Original A D (46%) B (78%) C (66%) C
quota
2020/DSE//16 v = S ——— 3 . B .
IF China abolished the quota on the export of rare earth mincrals, Note: Figures in brackets indicate the percentages of candidates choosing the correct answers.
A

(1) the export price of the rare earth minerals would drop.
{2)  the export quantity of the rare earth minerals would rise,
(3)  the total exchange value of the exported rare earth minerals would drop,

A, (1) and (2) only Price ($) -
B, (1) asd (3) only N .
C. (2yand 3) only P. e 8
D. (1), (2) and (3) 1’: X
t

0

Indicate in the diavram:
- original supply curve AB S
- quota => Q- Q2 1
- new supply curve (AK +) KF / quota quantity ¢
- new market price Py (H
The supply of imports decreases, because the effective quota quantity is smatler than the initial equilibrium quantity. (2)
The market price increases (1
The import volume decreases (1
1998/CLE/M2

Unipricy Ociginal  New

Quota Quota
P Sy
¥
1
/s. o
A
5
[}
U > Quaatky
Indicate in the diagram:
- quota | )
-Py (1)
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8 Market Intervertisn B Manket Intezverition
boration: ) 8.3 UNIT TAX & SUBSIDY
The supply of imports increases ()
The market price falls. 48]

200/CEA/9() Multple Choice Questions

Unit Price

=i Tass 1990/CE/NI/5 1
G = Gain Suppose the government increases the tax on cigarettes by $2. Consequently, the price of each packet of cigarettes increases
by $1.5. Which of the following statements is true?

Py

Ll A.  The producers bear 1/4 of the tax
! B. The demand for cigarettes is clastic
N L~ C.  The supply of cigarettes is elastic
S/ : ik 4 53 D.  The tax is progressive in nature
¢] DAY Quantity
Q+—Q
1991/CE/I/58
Indicate in the uraph: Suppose the government raises the first registration tax on newly-imported cars by $ 10 000. Which of the following is
Indicate D AT OB
- correct supply curve to show the original quota is effective (1) FALSE?
- 8 shifis leftward to S3 (1) g N . e
- lossws Tain 2 A.  The market price of all newly-imported cars will increase by $10 000.
- B. The markel price ol second-hand cars will increase.
Verbal explanation C.  The tax burden can be shifted to the consumers.
The supply decreases ) D. The number of cars newly imported will decrease.
After reduction of quota guantity, the quantity transacted decreases and the price increases. n
The condition is that the demand is elastic, (1 .
the percentage change in quantity demanded is larger than the percentage change in price. (2) 1992/.CE/H/23 . - _— )
The diagram below shows the demand and supply of Good X. The original equilibrium point is Eo.
/11 1{b)Y Unit Price
as quality improvement in Hong Kong-made garments. (1)
(Because one unit of quota must be used for one unit of garment regardiess of garment quality, and because the quota has a
positive value,) the price of higher quality garment fell relative to lower quality garments under the guota system. (1
2015/DSE/1/3 .
p. 1o N
&
-L: 3 ° Quamity
If the government imposes an excise tax on the good, the equilibrium point will change from Ey to
v
z/ A E
/ 5 B. Ex
0T or @ Q 5 o
- D E
Indicate on the diagram:
- rightward shift of the supply curve corresponding to an increase in quota [¢9) '993/CE/"/29 . _ . . .
- a reduction in P and a rise in Q ) A tax is imposed on a commodity. The tax burden on the consumers is relativety smaller if the commodity has an
- correct position for the reduction 1n deadweight loss (area wxyz) (S demandandan_____ supply.
Verbul claboration: A CIast?c AAAAAA leasticl
Yes (T agree), because €] B. ?[35“05 ’“Cl‘“t!c
the increase in efleclive queta would raise the supply and thus raise the quantity Lransacted and reduce the price, and th C. fnelast!c ...... ‘elastch
the gap between marginal benefit and marginal cost is reduced as the quantity produced is increased toward its efficient D. inclastic ...... inclastic
level. (N
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Microeconomics by Fepk
8 Market Intervention

For Question No.8 and 9, consider the following supply and demand schedule of wine in a certain country:

Price ($) | Quantity demanded (Units) | Quantity supplied (Units)
30 90 60
R 80 65
34 70 o 70
36 60 75
38 50 80
40 40 85

1994/CE/11/08
Suppose initially the wine market is in equilibrium. If the government imposes a tax of $6 for each unit of wine sold, the new
equilibrium price will be

A $32
B. $36
C. 838
D. $40
1994/CE//09
Government revenue from the above tax will be
A, $240
B. %300
C. $360
D. $420
1996/CE/LI/07 R
Price ($) Cluantity demanded (units) | Quantity supplied (units)
6 60 40
8 55 45
i0 50 50
12 45 55
14 40 60

Refer to the above information about a good. What will be the consumer tax burden if a per-unit tax of $ 4 is imposed?

A, $90
B. §$100
C. 8110
D. 3180
1998/CE/11/41
Suppose the sales tax rate of a good is raised. Which of the following statement is correct?
A.  The total expenditure on the good will increases.
B.  There will be inflation.
C. The total revenue net of tax to sellers will fall il the supply curve is upward sloping.
D. Income will be redistributed from the poor to the rich.
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Microeconormics hy Topic
& Market Intervention

Refer to the following supply and demand schedule for good Y and answer questions 8 and 9

Unit price ($) 12 11 10 9 8 7
Quantity demanded (Units) 40 60 80 100 120 140
Quality supplied (units) 280 240 200 160 120 80
1999/CE/11/08
If the government imposed a $3 per unit tax on Y, what would the new total sales revenue be?
A, 5360
B. $800
C. $960
D, $1320
1999/CE/11/09
The ratio of the buyers” tax burden to the sellers” tax burden is
A 1]
B. 2:1
E 82
D. 3:0
2001/CE/M/08

Suppose a per unit sales tax is imposed on good X. The sellers would bear a relatively smaller proportion of the tax burden if
the demand for the good is and the supply is

A, clastic ...... clastic

B. elastic inelastic
C.  inclastic clastic
D. inclastic inclastic

2003/CE/11/06
[f a country reduces a per-umit tariff on its imported garments,

the domestic demand for imported garments would increase.

local consumers’ expenditure on imported garments would increase.

the sales revenue of domestic garment producers would decrease.

the tarift revenue of the country coming from imported garments would decrease.

oQwpx

Answer Questions 1 and [2 by referring to the following market demand schedule of a good.

[Price ($) o T 12 T 13 ] 14 ]
|Quantity demanded (unit) | 160 | 140 | 120 | 100 |

2003/CEMI/11
Suppose the government imposes a unit sales tax of $3 on the good. As a result, the equilibrium price of the good increases
from $12 per unit to $13 per unit. Which of the following descriptions is correct?

The consumers bear a larger tax burden than the producers.
The clasticity of demand of the good is greater than 1.

The total tax burden is $120.

The total sales revenue (including tax) has increased.

on®E>
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8 Market Interventiog

If the equilibrium price of the good falls back to $12 per unit due to a decrease in production cost,

T
R
Migroeconamics by Topic
B. Market Intervention

Answer questions 1 and 12 by referring to the following information: The graph below shows the market situation of Good

A when a per-unit sales tax of $30 is charged on it.

A, the producers will bear all the tax burden.

B. the (otal tax burden will be $360.

C.  there will be excess demand.

D.  the total sales revenue net of tax will be $1 260.

2003/CE/MN/42

Suppose the government of Hong Kong introduces a general sales tax. It follows that

A, the sales revenue net of tax to the scllers will decreasc.

B.  there will be a persistent increasc in the general price level.

C.  income will be redistributed from the rich to the poor.

D.  the consumption expenditure of Hong Kong will increase.
2005/CE/11/09

Under the Closer Economic Partnership Arrangement (CEPA), some of Hong Kong made goods exported to the Chincse

mainland will enjoy zero tariffs. As a result, in the mainland,

A, the price of these goods will risc.
B. the price of these goods will fall.
C. the total expenditure on these goods will rise.
D. the tota] expenditure on these goods will fall,
2005/CE/MI/ 11
Good X Quantity demanded Quantity supplied
(unit price) in the market (unit) in the market (unit)
$6 60 40
$9 55 45
$12 50 50
$15 45 55
$18 40 60

If the government uses a unit tax instead to fix the output of Good X at 45 units, the unit tax imposed on Good X will be

A 83
B. $6
C. %9
D. s$12

311

Unit Price
N

150

130

100}

50

0 10 20 24 30 40 50 Quantiy

2006/CE/I/ 11
Suppose the above per-unit sales tax is abolished. The new market price would be

A, $100.

B. $120.

C. $140.

D.  $160.
2006/CE/11/12

Within the range of the original and new market prices, the elasticity of demand of Good A is

A.  smaller than its elasticity of supply.
B.  equal to its elasticity of supply.

C.  greater than its clasticity of supply,
D. unity.

2008/CE/11/07
The following table shows the supply of and the demand for Good X.

Unit price | Quantity demanded Quantity supplied
($) (units) (units)
5 10 50
4 20 40
3 30 30
2 40 20
i 50 10

If the government imposes a $2 per unit sales tax on Good X, the new equilibrium price will be

A %2
B. $3
C. %4
D. $5
312
" ) - n I & *

= | s = =\ Bovided bydsetife




Microeconormics b Jegske
8 Market Intervention

2008/CE/11/08

Suppose the per unit sales tax on red wine is reduced. The sellers will enjoy a smaller proportion of a reduction in tax burden
and the supply is

than the buyers if the demand for red wine is

A, clastic ... clastic
B. elastic ...... inelastic
C.  inelastic ...... elastic
D. inclastic ... inclastic
2009/CE/M/N3
The following table shows the supply of and the demand for Good X.
Unit price | Quantity demanded Quantity supplied
(%) (units) (units)
6 10 60
5 20 50
4 25 40
3 30 30
2 50 20
1 60 o

If the government imposes a $3 per unit tax on Goed X, the tax burden for consumers would be

A 320
B. §40
C. 360
D. $100

The following table shows the market of Good M.

; Quantity demanded Quantity supplied
Lndprey | (units) (units)
$2 1 200 400
$4 1000 600
$6 800 800
$8 600 1000
$10 100 1200

Suppose the government imposes a per unit sales tax of $4 on Good M. Find the correct answers for questions 11 and 12.

2010/CE/MI/11
The new market price is
A %4
B. $6
C. 38
D. 310

2010/CE/IN12
The total tax burden on producers is

A, $1200
B. $1600
C. $2400
D.  $3200
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Microecanosnics by Topic
8 Market Intervention

Refer to the following demand-supply schedule of good X and answer Questions 16 and 17

i uantity demanded uantity supplicd
Price (8) : ff:nitsl . (uiitslpp
10 700 300
11 600 400
12 500 500
13 400 600
14 300 700
15 200 800

2012/DSE/l/16
If the government imposes a per unit tax of $4 on good X,

A, the total tax revenue wilt be $2 000.
B. the total sales revenue will drop by $1 800.
C.  the demand for good X is inelastic.
D. the total sales revenue of the substitutes of good X will drop.
2012/DSE/NIN7
With reference to the above question, the ratio of the consumers' tax burden to the producers’ tax burden is
A1l
B. 13
C. 3l
D. None of the above

2013/DSE/V13
The loliowing table shows the demand and supply schedules of good X.

Price ($) 2 3 4 5 6 7 8
Quantity demanded (units) 30 30 0 60 50 40 30
Quantity supplied (units) 30 40 50 60 70 80 90

Suppose the government imposes a S2 per-unit sales tax on each unit of good X sold. The total sales revenue net of tax is

A, §180
B.  $200
C. §$280
D.  $300
2014/DSE/1/22

The imposition of a per-unit sales tax on cosmetics will

reduce the total expenditure on cosmetics.

reducc the total sales revenue (net-of-the-tax).

increase the total social surplus in the cosmetics market.
increase the producer surplus in the cosmetics market.

vow >
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8 Market intervention
2015/DSE/I/16
Unit Price ($) 4 5 6 7 8
Quantity demanded (units} 16 14 12 10 8
Quantity supplied (units) 14 14 14 14 14

The government imposes a $2 per unit tax on the good. Which of the following statements about the good in correct?

A, Sellers’ revenue net of tax is $70.
B.  The new market is $6.
C.  The total tax revenuc is $28.
D.  The above information is insufficient to determine the tax burden on sellers,
2017/DSE/N/16
Refer o the following supply and demand schedules for Good X.
Unit Price ($) 6 7 8 9 10 11 12 13
Quantity demanded 140 130 120 110 100 90 80 70
Quantity supplied 60 70 80 90 100 110 120 130

If the government imposed a $2 per unit tax on Good X,

sellers” revenue net of tax would become $990.

tax burden borne by the sellers would be $90.

the total tax revenue would be $200.

buyers’ total expenditure on Good X would decrease by $40

oo

2018/DSE/1/22

The following diagram shows the demand and supply curves

of Good X.

B (with tax = 1)

Unit Price
A S, (with tax = 1)

Sy (without fax)

0 Quantity

Suppose the government increases the tax on Good X from t;
to 12. Which of the following statements is correct?

The deadweight loss will increase by area begh,
The deadweight loss will decrease by arca abh.
The new deadweight loss is arca bef.
The new deadweight loss is area adi.

onw>
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199 1/CE/I1/26

When the tax on commodity X is doubled, its tax revenue is also doubled. This indicates that

A.  the demand for X is perfectly elastic.

B. the demand for X is unitarily elastic.

C.  the supply of X is perfectly clastic.

D. the supply of X is perfectly inelastic.
1992/CE/NI/26

A tax on using the Cross-Harbour Tunnel will have the least effect on solving the Tunnel’s congestion problem if

A, the demand for the Tunnc! service is clastic.

B.  the demand for the Tunnel service is inclastic.

C.  the supply of the Tunnel service is elastic.

D.  the demand for other transportation means of crossing the harbour is inclastic.

1995/CE/I/11
Suppose the government imposes a per unit sales tax of $5 on good X. Under what condition will the price increase by $5?

A, The supply of X is unitary elastic.

B. The supply of X is perfectly inclastic.

C.  The demand for X is perfectly inclastic.

D.  The demand for X is unitary elastic.
2002/CE/M/{ 1

Suppose the government imposes a unit sales tax on a good. The producers’ revenue after deduction of the sales lax will
remain unchanged il

A.  the demand for the good is perlectly elastic
B. the demand for the good is perfectly inelastic
C.  the supply of the good is perfeetly clastic.
D.  the supply of the good is perfectly inclastic.
2004/CE/I/10
Suppose the government imposes a per unit sales tax on good X of which the supply is perfectly inelastic. Only will

bear the tax burden, and the quantity transacted will

A, sellers ...... remain unchanged
B. sellers ...... decrease
C. buyers...... remain unchanged
D. buyers...... decrease

1990/CE/1I/24
If a government abandons the policy of giving subsidy to farm products, then the price of farm products will and
the quantity of farm products transacted will :

A. increasc ... incrcase

B. dccreasc ...... decrease
C.  increase ...... decrease
D.  decrease ... increase
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8 Markst Intesvention B Market Intervention
1990/CE/NI/10 1999/CE/11/04
Price (5) Case I The market price of Good X decreases by $4 per unit after the provision of a $10 per unit subsidy.
3 Case [I;  The market price of Good X decreases by $6 per unit after the provision of a $10 per unit subsidy.
/ We can conclude that in comparing the two cases, Good X in Case I has a demand or a supply.
A, less clastic ... less clastic
B. more elastic ...... more elastic
C.  less elastic ...... more elastic
D.  more clastic ...... less clastic
5 2000/CE/11/08
Refer to the following demand and supply schedules of a good.
2}
Price per unit $25 $30 $35 $40 $45
1 | ¢ Quantity demanded (units) 120 100 80 75 60
L Quantity supplied (units) 60 75 80 100 120
0 H {
4 Quantity (units)

According to the above information, we can conclude that

The above diagram shows the supply and demand for good X. If the government offers a subsidy of $2 for each unit of

the total sales revenue would be $3 000 when the price is $30 per unit.
output, the market price will

a unit subsidy of $10 on production would cause the equilibrium price to drop by $5.
a higher salaries tax would raise the market price to a price greater than $35.
the seller could set price at $40 to gain the highest profit.

ISAeR

A.  decrease to $3.
B. dcerease to $4.
C. increase to $6.
D. increase to $7. 2000/CE/I/11

Suppose the government imposes a unit subsidy on good Y causing a shift of its supply curve form S to Sz.

1996/CE/TI/11
The diagram below shows that the unit price of a commodity falls from $10 1o $8 when the government provides a per-unit
subsidy of $5 to its suppliers.

Unit price ($)
Y e S I . .
The amount of subsidy benefit enjoyed by the sellers of good Y is
F| o————————
A (P2-P)xQ
B. (Pa-P)xQ
C. (P3-P)xQ:
D. (Pi-Pa)x Q2
Quaniity
0
What is the total amount of suppliers” benefit from the government subsidy?
A, 880
B. $120
C. $150
D. $250
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2001/CE//07

Unit Price S,
S
5
4
3 /
- 0
o > Quantity

5¢ 60

The above diagram shows the increase in supply of a good from S to Sz as a result of the provision of a per unit subsidy for

the good by the government,

Suppliers’ new total revenue excluding the subsidy their old total revenue before the provision of the subsidy.

A, is smaller than
B. iscqual to
C. s larger than
D. may be larger or smaller than
2004/CE/1/11
The following table shows the market demand and supply of a good.
. Market quantit Market quantit
UniRicel(s) demandsg (Unit};;l Supp]iedqunits};
10 70 130
9 90 120
8 110 110
7 130 100
6 150 90
5 170 80

If the government provides a per unit subsidy of $3 to the supplicrs,

A, the new equilibrium price is $5 per unit.

B. the total amount of subsidy provided is $390.

C.  the subsidy benefit enjoyed by the consumers is greater than that of the supplicrs,
D.  the total expenditure of consumers will decrease.

2010/CE/11/09
The demand elasticity of Good X is equal to one. Which of the following is a correct description of Good X 7

A, Anincrease in its price will not affect the quantity demanded.
B.  Anincrease in the price of its substitute will not affect the quantity demanded.
C.  The imposition of a per unit sales tax on it will not affect consumers’ expenditure on it.
D. A per unit subsidy offered by the government will not affect the total revenue (including the subsidy) of the
sellers
SP/DSE/1/20

Suppose the government provides a per-unit subsidy to the producers of a good. This would lead to

an increase in consumer surplus and a fall in producer surplus, so having an ambiguous effect on efficiency.
an increase in producer surplus and a fall in consumer surplus, so having an ambiguous effect on efficiency

an improvement in efficiency because both sellers and buyers would benefit from the subsidy.

a deadweight loss because the amount of subsidy provided by the government is greater than the sum of the

increase in consumer and producer surpluses.

gnw>
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B Market Intervention

2014/DSE/N/ 16
Reler to the following demand and supply schedules ol a good.

Price $1 $2 $3 $4 $5
Quantity demanded (units) 120 100 80 75 60
Quantity supplied (units) 60 75 80 100 120

According to the above information, we can conclude that

the total sales revenue would be $200 when the price is $2.

there would be a shortage of25 units when the government imposes a price floor at $4.

when a per unit subsidy of $2 was granted to the seller, the total revenue (including the subsidy) would increase
by $160.

D.  when a per unit subsidy of $2 was granted to the seller, the equilibrium price would drop to $1.

aAw>

2015/DSE// 10
Which of the following will result in a rise in the total revenue of chicken farms?

A. The price of chicken feed falls.

B.  The government reduces the profits tax rate on chicken firms.

C.  The effective quota on the sale of chickens is increased.

D.  The government reduces the subsidy for the production of pork.
2015/DSE/N/12

The government provides a per-unit subsidy of $10 on producing green products. The market price drops by $6 as result.
Which of the following statements about the green product market is/are correct?

(1) The supply of green products is mare elastic than their demand.
(2) Consumers enjoy more subsidy benefits than producers.
(3) The demand for green products increases.

A (2)only
B. (!)and (2) only
C. (1) and (3) only
D. (1), (2)and (3)
2016/DSE//19
Refer to the lollowing demand and supply schedules ol'a good.
Price ($) 40 50 60 70 80 90
Quantity demanded (units) 14 12 10 8 6 4
Quantity supplied (units) [ 8 10 12 14 16

Which of the following statements is correct when the government provides a per unit subsidy of$20 on the good?

A.  The total revenue including the subsidy is $840.
B. The total subsidy granted by the government is $200.
C.  Within the range of the original and new market prices, the elasticity of demand is smaller than one.
D.  The change in total revenuc of its complements is uncertain.
1994/CE/NI/11

The demand for good X is perfectly inelastic. If the government offers a subsidy of $4 for each unit of X produced, the
equilibrium price of X will

A.  remain unchanged.

B. decrease by $4.

C.  decrcase hy less than $4.
D.  decrease hv more than $4.
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Thie following table shows the demand nad supply schedules of a good. Microesonormcs by Togic
8. Market Iniervention
Price Quantity denmnded Quantily supplied
i ® i (units} (units) Short & Structured Questions
20 0 40
2 60 43
1991/CE/1/1(b)
u 56 50 In the fiscal year 90/91 the government greatly increased the tax on gasoline. With the aid of separate demand and supply
26 40 55 diagrams, explain the effect on the equilibrium price and quantity of
2 30 60 - A
8 (1) gasoline, and (6 marks)
If the government provides a $6 per~unit subsidy for the producers of the good, the total subsidy provided by -
the government will be and the ratio of consumers’ share to producers’ share of the subsidy will be (ii) new cars. (7 marks)
& s 1992/CE/1/2(b)
C. $360 Suppose US imposes an import tax on Hong Kong-made garments, With separate diagrams, explain the effects on the
D. 5360 .. equilibrium price and quantity of
2021/DSE//15 (i) Hong Kong-made garments in the US markets, and (5 marks)
When a per-unit sales tax is imposed on 2 good, which of the following combinations may result in the (i) US-made garments in the US market. (5 marks)
consumers’ tax burden exceeding the producers® tax burden?
i Jastic d o dlaeh | 1993/CE/1/4(c)
{ ) elag }6 eman “? ”“C‘Supp ¥ Suppose a per unit tax is imposed on the TV sets sold in Hong Kong. This tax is collected from the sellers. Indicate on a
(2} Flas‘mydcma“ﬁ» “w}a“fc supply supply-demand diagram the respective tax burdens of the consumers and the sellers. (5 marks)
(3) inclastic demand; elastic supply
(4)  inelastic demand; inelastic supply
2004/CE/1/9(c)
A (2) only A first registration tax is imposed on cars and the tax is collected from car sellers, Suppose the total tax burden of car sellers
B, (1)and (3) only is greater than that of the buyers.
(;‘ e3) “"4 (4) only (i)  State the condition that leads to this sharing of the tax burden. 1llustrate the situation with a diagram.
Do (13, (3) and (4) only
(11} Using the same diagram, show car sellers' total sales revenue net of the tax. (8 marks)
2021/DSE/T16
Refer to the following demand-supply schedules of Good X. 2007/CEN/9(c)
General sales tax has generated a lot of discussion
i ity demanded (units i i i . . .
Price (5) Quantity {units) Quantity supplied (units) Good X is subject to a per-unit sales tax.
80 106G &0 ) . C . . .
(i) With the aid of a diagram, explain under what condition consumers” total spending on Good X will decrease as a result
Q0 100 90 of the introduction of the tax. (7 marks)
100 190 100 (ii) Indicate in the diagram in (c)(i) the change in sellers’ revenue (net of tax). (2 marks)
110 190 110
s 2008/CE/1/9(b)(i1)
120 160 120 The stock market of an economy is overheated. Many people withdraw money from their bank deposits to buy shares.
Yy
130 10 130 Two measures are suggested to cool down the overheated stock market
If 8 $10 per-unit subsidy is provided to the producers of Good X, (™ thefdepsitlinteres iratelofbank is raised!

(1)  the total revenu including the subsidy will remain unchanged (2) the government imposes a tax on the capital gans from trading of shars.
i1 bt 5 v 1Y L 1 S

(2)  the subsidy benefit will be received entirely by the producers. With the aid of a diagram, explain the effect of the imposition of the capital gains tax on the total market value of shares in
(3)  the total expenditure of consumers on Good X will reduce by $1 000, the economy. (7 marks)

A, (1)yand {2) vuly
B, (yand (3} only
{2) and (3% only
(1), (2) and (3) 321
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8 Market Intervention

2009/CE//11(c)(i)

In the fiscal year 2008-09, the government took some measures to reduce the tax burden on the public.

The duties on wine (including red wine) were waived in order to establish Hong Kong as a centre for wine trading and
distribution businesses.

With the fact that drinking red wine has become more popular in Hong Kong and the fact that the duty on red wine has been
waived, explain in what situation the price of red wine would increase. lustrate your answer with the aid of a supply-
demand diagram. (7 marks)

2014/DSE/M/9
Many countries have considered imposing “soft drink tax” for health reasons. Supposc a country decides to impose a per unit
tax on the scllers for cvery bottle of soft drink sold in the market.

(a}  Under what condition will the soft drink buyers in the country bear a greater tax burden than the scllers? Ilustrate your

answer with a supply-demand diagram. (5 marks)
(b)  Using the same diagram in (a), indicate the change in consumer surplus after the tax is imposed. (1 mark)
2015/DSE/N/11(d)

Tobaceo duty is an indirect tax in Hong Kong. The Financial Secretary has increased the tobacco duty rate with the aim of
discouraging smoking,

In addition to the rise in tobacco duty, the Customs has made more effort to prevent the illegal sale of duty-not-paid
cigarettes and has cracked down several illegal scllers. Ts it possible that the quantity transacted of duty-not-paid cigarettes
would increase? With the aid of a diagram, explain your answer. (7 marks)

2016/DSE//10(¢)

The European Union has imposed an anti-dumping tariff on the Chinese produced solar panels.

Under what condition will the producers bear a greater tariff burden than the buyers? Hlustrate your answer with a supply-
demand diagram. (7 marks)
2017/DSE/NI/1N

The government of Country X introduces a per-unit subsidy to the education services of private universities

(a)  Under what condition would the students enjoy a larger share of subsidy benefit than the private universities? Illustrate
your answer with the aid of Figure 3. (7 marks)

(b) *The subsidy causcs incfficiency even though both students and universities benefit.” Defend the statement by
comparing the marginal cost and marginal benetit in Figure 3. (3 marks)

Figyre 3
Vrice ()

> Quanrity
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2020/DSTAT/ 10D

Donald Trump, the US president, once said that imposing tariffs would only increase the revenue of the
U5 govermment and (he US consumers did not have to pay more for the imported goods.

® With the aid of & supply-demand diagram, explain under ONE extreme condition that the
consumers would bear NO tariff burden afier the imposition of fariff, {4 marks)
(For simplicity, the tariff is assumed to be per-nit.)

{1t} Indicate the tariff revenue (ie. sellers® burdeny in the same diagram. {1 mark)

2020/DSEIN0C

{v)  Econoroists argue that tariff may harm both the consumers and producers,

P Si
©
Sy -
& So: the supply curve before tariff
I‘mﬂ Su the supply curve after tariff %
" 3
d
ﬁ i
D
¢ i
With reference to the above supply-demand diagram, complete the table below (3 marks)
Before ariff After tariff
Consunters” surplus Area adf
Froducers’ surptus l
k —s e \ - Y
y . 4 “t l
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202 H/SE/MT 10c

Musks have become a daily neeessity as it is compulsory for people to wear masks in many public areas.

Explain whether the “CuMask’ s 2
(i} free good,
{iiy  public good.

To stbilise the supply of surgical masks In Hong Kong, the Government has launched the *Local Mask
Production Subsidy Scheme®, which provides subsidy 1o locnl mask producers,

oy Withahe aid of s disgrom, sxpiain under what condition the total expenditure of consumers on surgiest

nyasks will desrease because of the subsidy,

{For simplicity, the subsidy is assumed to be o per unit une.}

() Wearing swrgical mask can reduce the chance of contracting diseases for an individual and can prevent
sprending diseases to others as well. In terms of externality, sxplain how the subsidy could improve

ecanomic eificioncy.

1990/CIALS
A

1991 /CEAN/SE
A

1992/CLA11/25
A

1993/CEA1/20
B

1994/CE//08
B

1994/CE/T1/08
€

1996/CEMNT
A

1998/CEA1/41
c

1999/CEA1/08
B

1999/CEN1/09
B

2001/CEAT/08
I

1994 /CEA/(b)
(1) Gasoline

MARKING SCHEME

2603/CE/1/06 2010/CENI 1995/CE/M/T 2010/CENT/09
C(19%) C (69%) C C (42%)
2003/CE/MI/1Y 2010/CE/I/12 2002/CE/I/1] SP/DSEN/20
B (46%) A (53%) B (58%) D
2003/CE//12 2012/DSEN16 2004/CE/II/ 10 2014/DSEN/N6
D (25%) B (66%) A (28%) C (48%)
2003/CE/T1/42 2012/DSEN1T 1990/CE/11/24 2015/DSE//10
A(32%) A (60%) C D (32%)
2005/CE/NT/09 2013/DSE/3 1990/CEAT/10 2015/DSENN2
B (68%) B (63%) B B (48%)
2005/CEM/TL 2014/DSE/22 1996/CE/MIA1 2016/DSENN9
B (47%) B (72%) C A (43%)
2006/CEAY1T 2015/DSE/N/6 1999/CEA104 1994/CE/M/ 1
B (39%) C (48%) D B
2006/CE/1112 2017/DSE/16 2000/CE/11/08 2020/DSEAN/5
C (56%) B (64%) B D
2008/CEALO7 2018/DSE/N/22 2000/CE/AI/1 202 1/DSEN/S
C (63%) A (74%) D D
2008/CE/11/08 199 1/CEN26 2001/CE/1/07 202U/DSEA/6
C (49%) D A B
2009/CEAL13 1992/CE/1/26 2004/CE/MI/
B (47%) B B (34%)
Note: Figures in brackets indicate the percentuges of candidates choosing the correct answers.
Unit price
1 D
=
. Mz
= 1
b0
37
4
. i
0 o 5 > Quantity

- Icﬂwﬂrdkshiﬂ of §
-7 T
-Ql

E

boration:
The supply decreases (due to the gasoline tax).

Therefore, the equilibrium price increases, and
the equilibrium quantity decreases.
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8. Market Itervention
(i) New cars

(i) US-made garnients

Unit Price
Unit prios
"y
1
b~ 5
rl X
i
4
$ LD
1) py—y ey
Candidates should indicate on the graph:
- lefiward shift of D (y | cate ‘ :
=Py (1 - rightward shift of D (1)
-0l (n -PT&QT 1
Elaboration: Elaboration:
The demand for new cars decreases, becanse (1 The demand increases {due to a rise in the price of substitutes) (1)
new cars and gasoline are complements 3] Therefore, the equilibrium price increases, and 1)
Therefore, the equitibrium price decreases, and Q3] the equilibrium quantity increases. (1
the equilibrium quantity of new cars decreases [83)]
1993/CE//4(c)
1992/CE/N/2(b) Uilt Price
(i}  Hong-Kong made garments
Unit price
4
» o
>
¥ \ s
T
4
&
n
s
8 "
0 ae—q Quantity
> (uantity
Candidates should indicate on the sraph:
- leftward shift of § (b} Diacrarn
« P 1 & A2 AN .
Pr&Ql 0 per unit tax
BT - correct shift of supply corve (1)
w* e to the itport tax) 0 - tax paid by consumers (white rectangle) (2
SRpyidecigasesane lophe IpdT - tax paid by suppliers (black rectangle (2}
Therefore, the equilibrium price increases, and (1) anAiey, SppRiers (bla gle)
the equilibrium quantity decreases (H
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Microeconomics by Tople

8-Market Intervention
2004/CE/N9(c)
(i} Condition. The elasticily of demand for cars is greater than the elasticity of supply.

Init pri
L mt‘pncc s,
[y
S
=~
P, 3
4
P FS

d
: 2}
0 Quuntity
Indicate in the diggram:
- supply curve shifts from S; to Sy
- sellers’ tax burden = arca acPd
- buyers’ tax burden = area cbP2P;
- area acPid > area chPaPy
(1) Indicate in the diguram:
- area 0Q2ad 1s the net tolal sales revenue.
2007/CE//9(c)
(i) Price 8t .
E'F =tax amount per unit
-+ Quantity

(i)

Indicate in the diauram:

~ upward shift of the supply curve

-~ a decrease in spending (= L} + increase in spending (= ()
-Gl

Verbal elaboration:
There is a decrease in supply.
The price increases and the quantity decreases.
The demand is elastic.
the percentage change in quantity demanded 1s larger than the percentage change n price.

~sellers” revenue b:fo;c tax (= area OQEP)
- the revenue uet of tax (= area 0Q'FR)

OR

- change in revenue = loss of area Q'QEPRF

2

(H
(b
(h
]

M

()
6
i

0
0!
0!
0!

(8h)
n

@

2008/CE/TO(h)(11}

Price

. D1
D2

o W

Microecoromics by Tople
8. Marker intecvantion

D1
D2
0 S » Quantity
Q

- leftward shift of the demand curve (1)
- market price falls from P to P2 (1)
- market value decreases from Py x Qto Pax M
Verbal elaboration
The demand for stock market investments decreases. (WD)

due to lower expected net capital gain Q0]
There is a fall in the price of shares, and $)

the total market value [P x Q] fails. ()
2009/CEANHe)(1)

Unit Price
4 s1 82
D2
L8]] o,
——
T 2]
Pl
......... 0 = Quantity
- demand curve shifts to the right (1)
- supply curve shifts to the right 4B
- the new equilibrium price > the original equilibrium price (1)
The demand for red wine increases (as it 1s more popular). [}
The supply of red wine increases (due to the tax cut) (1)
The increase in demand is larger than the increase in supply. (2)
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8 Market Inieeverition

2014/DSEAVY

(a)  The condition is that the elasticity of demand for the good is smaller than the elasticily of supply.

P Soft drinks
Sl
/Sﬂ
Py
Buyers' by &
Po sellep burden 1%
| |
| ‘
| D
0 dTQn Q

Indicate on the diagram:

- parallel upward shifl of supply curve due to the per unit tax

- price increases and quantity drops

- correct positions of buyers” tax burden and sellers’ tax burden
- buyers” burden > sellers’ burden

- reduction in consumer sarplus: buyers' burden + area a

201S/DSEAVTHdY

Duty-not-paid cigarette
Price,

Dy
Quantity.

0. Qo Qe

on.the diagram:

ghtward shifl of the demand curve

- leftward shift of the supply curve

- final equilibrium with a higher quantity transacted

Verbal claboration:

On the one hand, due to the HK Customs” crack-down cffort, the supply of duty-not-paid cigarcttes would drop.
igarcttes and duty-not-paid cigarettes arc substitutes, tobacco duty would incscase the

On the other hand, as duty-paid ¢
demand for duty-not-paid cigarettes.
Tt is thus possible that the total quantity of duty-not-paid cigarettes sold would increase,

if the increase in demand has a bigger effect on the quantity transacted than the deercase in supply.
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Microeconarmics By Topit
8 Market Interventian

Condition: demand lor solar panels is more elastic than ils supply. (2)
Ui
Buyer = buyers’ barden
Seller = producers’ burden
Quastity
Indicate in the diagram:
- upward shift of the supply curve h
- P increases 3]
- Q decreases (1)
- correct position of buyers’ burden and producers’ burden hH
- buyers’ burden < producers” burden (1)
2017/DSE/I/11
(2) The condition is that the elasticity of demand for education services is lower than the elasticity of supply. (2)
Price (§)
h
Y e
i cs
% 5, 4
Poff
¥
B e
0 D Quantity
Qo Q
Hlustrate n the digeram:
- parallel downward shift of supply curve due to the per unit subsidy (1)
- correct position of new price (P1) (1)
- gorrect positi of new quantity (Q) (H
- correct position of producer benefit and consumer benefit €D}
- consumer benefit > producer benefit (€3]
- correet position of marginal benelit Q)]
- correct position of marginal cost h
Verbal elaboration:
At Qi marginal cost is larger than marginal benefit. m
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2020/DSE/M/10B

B) If the demand is perfectly clastic. Pbducer will bear all tax burden,
OR

I the supply is perfectly inelastic. Mbducer will bear all 1ax burden.

2020/DSE/1/10C

) Consumer surplus after tariff %bc
deucer surplus before tarifl Ko
Phducer surplus after taritf’ Mo

2021/DSE/TH 10e

() Verbal elaboration:
An introduction of subsidy will increase supply by shifting the supply surve downward. If the
price elasticity of demand is larger than the price elasticity of supply, the percentage increase in
quantity transacted is smaller than the percentage decrease in price paid by consumers, so the
decrease in total expenditure due to decrease in price is higher than the increase in total
expenditure due to increase in quantity transacted, the total expenditure decreases.

IHustrate in the disgram;

- Downward shifting in supply curve

- Indication of per unit subsidy

- Decrease in total expenditure > increase in total expenditure

Price (§)

{54 Decresse in Total Expenditure ()

% Increase i Total Expenditure (+}

Quantity

Q> Q

= Ty M T e S N s =

(d) Wearing surgical mark protects oneself as well as lowering the chance of others being infected by {4
the discases. Since the person wearing surgical mark is not compensated by others (whose chances
of being infected are reduced), there exists external benefit, with marginal social benefit exceeding
marginal sociaf cost. This implies that the number of people wearing marks is below the efficient
level, Subsidy can increase the quantity of vaccination towards the efficient level and thus narrow
the gap between marginal social benefit and marginal social cost.
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